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WESES 50,639 |&[EF 15545 |£H 7051 |2F 23,355 |&E 818 |&H 13,667 |£H 1,290 |£H 579 |&[F 6,868
1Lz th 56,167 |R&RTH 18,876 |FR&RTH 81.62 |lLufzth 27938 |E&™H 2,149 |lufeth 17,580 |ZR#&RTH 1,894 |ZRERTH 849 |HIHBXER 9,261
2 EBH 55682 =BT 18523 |ERT 8153 |HEHRXER 27,842 |A’EHET™ 1,747 |)KFEW™ 16,467 |FRFABXER 1,698 |JIl&TH 754 | EWNVE=FET 8,581
JIHEHMXER| 55620 |KiEth 17,760 | K& 80.55 |JIligTh 27419 |BFFH 1,620 |BERET™ 16,146 |)II&TH 1,646 |REAXER 752 |fEERT 8,565
4| FEH 55,611 |¥&th 17,750 |#Rh 79.29 |FEH 27,400 | KRt 1474 |f2BT™ 15960 |FEm 1,643 |ALIRTH 751 |#LiRtH 8,464
5 FTh 54,896 |fHETH 17,427 |25 E™ 7898 | ELMv=FETH 27,288 |{&[™ 1,417 EWT™ 15,836 |##ETh 1,627 |EFE™H 734 |#¥EETH 8,353
6 t2E™ 54,891 |AEHET 17,230 |[#F T 7740 JKETH 27,145 |J)KETH 1,384 |FEm 15,831 |& R 1,586 |#EmH 7133 | R¥FH 8,321
7)1EH 54,717 |BEH 17,000 |FEh 76.82 |;E¥ATH 26,093 |fEE™ 1,296 ;Em 15694 |ERT 1,543 | ER™™ 705 |JIlIg T 8,302
8 KiEm 54,613 |3 16,838 E¥mH 76.68 {EETH 25868 EEIREM™ 1,229 )&t 15573 |#Fm™ 1,531 |#B#R[RE™T 694 |flET™H 8,106
9 AR 54491 |¥\Ith 16,814 |lLUfizTh 75.53 fEHEETH 25810 |FEMH 1,193 | HiET™ 15,561 |ALIRTH 1,506 |[#FTH 694 |FEH 7,897
10/ &LVv-F T 54416 |LLUfizth 16,808 |RELLT 7517 |fEETH 25,673 3™ 1082 |ELZ=Fm 15500 |[ILLA™ 1458 |FEmH 693 |X:EH 7,620
"MaEaaEM 54371 |FEMH 16,675 |B%[EH 7453 LET 25,609 Uz 1,038 |AEHEM 15,312 |#E#&[R™ 1,458 |lLAtH 659 |&Rth 7,565
12| #B1R R 53,478 |[ELUTH 16,664 |JI[I&TH 7440 |EE[ETH 25464 | AEHET™ 1,024 |ElUm 15113 |&R™ 1,426 &R 659 |JKETH 7,505
1348 53,451 |HEANXER| 16,411 |fAERETH 7414 |BRFTH 25,269 |JIligTH 1,011 $i8mH 15,007 | 1,425 |SWMV=FmH 651 |f@Bm™ 7,451
14 53,167 |BX[th 16,302 | =LV=Fh 7407 #FHEBTH 25074 |&iR™H 990 | HERE#HXER| 14985 |[LET™ 1,415 | KRt 649 ¥ 7,441
15 #Fiam™ 53,157 |JIlI&H 16,151 |t 7343 ZHET 25,063 |Ei&T™H 990 |ERfFTH 14,896 |=L\=FH 1,409 |iRth 638 |FHE™ 7,387
16 |#&/EmH 53,141 |##ETH 16,025 |#MIth 73.33 |HI#BTH 25062 |EEHXER 949 |FHET 14830 | KR 1,384 | ZHEM 636 |E%RETTH 7,361
17 BT 53,084 |lLOTh 15,985 |EREAXER 7331 |FEET 24952 |&UVf-ET 928 lieth 14820 | ZHEWM 1,371 |Et 630 |Lfizth 7,312
18| BERE 52,205 |&#aTh 15,830 |#ETh 7257 |ERET™H 24791 |[LB™W™ 926 |fHETH 14537 |#&Rh 1,360 |[LET 610 [;E#ATH 7,297
19 L&E™™ 52,086 | KEFTh 15,803 |Bi#E™ 71.97 (fHET™H 24731 | BT 876 |IFETH 14526 | KiEMH 1,352 |FH =™ 609 |fHETH 7,243
20kKF™ 51,930 LB 15,779 ;& 7160 |ELUH 24474 |;E¥ATH 861 |E%RE™H 14421 QLETH 1,331 |t 599 &R 7,148
21\ LB 51,692 |SLV=FmH 15,631 |=#TH 70.75 =BTt 24196 |#TITH 856 |Z=BE™ 14276 |fEET™ 1,329 | KiEMH 598 | ZBE™H 7,144
22| R¥ 51,589 |$¥Bath 15560 |BHmH 69.91 | K;ETH 24177 |=#th 829 |tHERETH 14,193 |;E¥ATH 1,327 |BEATH 591 |IEETH 7,141
23|I BT 51,321 |fEET™ 15505 |lLAT 69.48 |;ETH 24130 |[&E&HF™ 829 | K:#ETH 13,884 |t 1,310 [hET™H 587 |f&fEmh 7,030
24 |[FUth 51,066 |{EETH 15,397 |[GETH 69.40 | E¥mh 23,848 |#aluth 820 |#EETH 13,810 |;&mh 1,305 |;E¥ATH 585 |RiItBTH 7,015
25 E U 50,748 |tH{EETH 15362 |&FH™ 68.85 |IEETH 23,747 |EiI&™H 816 |[LBT™ 13,808 |REATH 1,299 | FnFruh 579 |EWUTH 6,896
26 FFRETH 50,456 |E U™ 15,337 | KBRTH 68.73 |&iRtH 23537 |#LiEv 798 |[fEETH 13,616 |FH#=Th 1,277 A& 576 |BX[ETH 6,878
27 BFFTH 50,379 | KBt 15,300 |F#HETH 6852 |[LET 23,342 |HHERETH 785 |REWTH 13,520 |dbAuiMm 1,251 |IKETH 565 |ERRFTH 6,852
28 luah 50,248 |Ri¥BTH 15201 |#XEHT 68.35 |#LiRTH 23,138 |#&ETH 776 |luOth 13,508 |IETH 1,250 |f2RE™ 564 |ARERTH 6,777
29 RitE™ 50,233 |;E#NTH 15,161 [;E¥ATH 68.34 |FH#&RTH 23,110 |REKRT™ 735 | HHTM 13,468 |F1FrILT 1,248 | Friat™ 560 |fKETH 6,689
30|FHE=ET 50,173 |F&#RE™ 15092 2Bt 68.15 |[ELUTH 22697 [{4EETW™ 725 | E¥H 13,258 | R¥m 1,237 |db AT 544 | ZHET 6,639
31 B 49,948 |FET 15,070 L& 6758 3Rt 22647 |EXMET™H 721 iRt 13,258 |#AITH 1,233 |¥MITH 541 R 6,501
32| KBrh 49,905 B 15018 |ELUmH 67.15 | KFrth 22284 | KHt 707 |®kETH 13,105 |lLUfigmh 1,200 |LUfizTh 540 |FEARTH 6,444
33 T TH 49839 L& 14,836 |=&mH 66.26 |fEETH 22,242 |Rit&TH 706 &R 12805 |/KF™ 1,180 | ¥ 535 |[LETH 6,391
34 &R 48848 |[H#H&™ 14,732 |ALIRTH 66.23 |lLOTH 22,102 [db AT 702 | KBt 12,701 |E1um 1,174 |E&H 514 |iRth 6,226
3B\ EET 48,701 |f@Hm™H 14,636 | F0FrUH 65.38 | BH&HM 22,090 |FfETH 700 |#¥iTTH 12554 |f8F@T™H 1,174 |f&@H™™H 505 |E&HFM 6,133
36|%&R™ 48678 =& 14581 |fEETH 65.29 |fEfTH 22033 |fHFET™ 696 |fBFHTH 12416 |f@HT™ 1,152 KPPt 503 | KBt 6,004
37| #HETH 48458 |REART 14,554 {2 65.07 |FXHETH 21972 |#FhiB™H 691 |REARTH 12,253 |EI&TH 1,150 |mi#E™ 502 |luOTh 5,965
38 #LiRH 48,183 |&iR™H 14,396 |BEATH 64.85 |WMITH 20,908 BB 676 | =#ATH 12,122 |HitE™ 1,146 |EUH 489 |iETh 5,847
39 REATH 47596 |F0FulUT 14,205 |&R™ 64.84 |FEmETH 20,868 |FHETT™ 675 {EET 12,105 |EBfFH 1,104 |f2B&Th 479 RIRE™ 5,754
40| Sath 46,871 |#llum 14,166 |f2H™H 64.03 |S#ith 20,233 |;#m 620 |=%0th 11,926 | Ko 1,099 |5 471 ¥ Ivh 5,733
M\ EHFT 46,487 |JKFET™ 13,953 |IXET 63.75 |&x0Th 20,069 |RFkATH 614 |f2RE™H 11,805 |[f2@ETH 1,084 |F&HFT 470 |RiI&™™H 5,676
42 S0t 46,277 kLR 13,812 |JKPTH 63.28 |RERTH 20,036 |K:ETH 597 |ALtEvH 11,745 |EWT™H 1,080 |EHTTH 467 |dE T 5,602
43 f@HH 46,143 | EI&T™H 13,789 |&%REmH 62.89 |f@FHmh 19,955 |[LlETH 557 |BEnH 11,661 |#ALUT 1,079 | 466 | Ky 5,583
44 b T 45920 |E&MT™H 13,784 |#luth 6256 RERE™ 19,778 |F0Fxu 556 |dbAdThH 11,453 |BE[EH 1,072 | X»th 465 |[4EBT™H 5,424
45 RIG™H 45764 |IEEBTH 13,769 |ERET™ 6054 |{EBE™H 19,748 |ELUTH 532 EIRBE™ 11,286 | &t 1,060 |RIZH 463 | ST 5,345
46 AR ERTH 45548 EBIRET 13,465 |ERfFTH 58.85 |dbAdNTh 19,654 |EW 526 |F0FxTH 11,194 |&F&FT 1,039 |EERE™H 458 BT 5,311
471 BRET 45050 |BRFH 13,433 |{&&E™ 58.08 |Ei&t 19,271 [lLA® 524 |RI&TH 11,186 |RI&™H 1,031 [ERET™H 450 |f@FH™H 5,306
48 | FOFRUTH 44944 | dt R 13,323 |dEAimm 5792 |BEuh 19,134 |f@#H T 440 |EIHTH 10933 |EBIRET™ 1,009 | #AUTh 450 |fEET™H 5,220
9{EET 44439 BB 13271 | Ri&mH 5701 | K&Hth 18,852 |RLUTH 429 |REARTH 10,933 |EH0TH 984 BT 444 |=EiFT™H 5,130
50 =5 TH 44024 |BREAT™ 12,869 | KHoth 56.89 |El&TH 18,713 |ER™ 400 | KHth 10,880 |fXHTH 981 |FXHETH 441 | BT 4,503
51 #alum 43613 | K& 12,528 |EH0TH 53.17 |#1Fxuth 17,737 | EFT 376 |#EmE™ 10,807 |[f&&™ 970 |BRZEETH 441 |[#auvh 4,409
52| K&pth 43533 |BH™ 12,380 |BRZERT™ 4835 |#2luth 17,672 |IHET™H 192 \#um 10,773 |BRZET™H 967 &% 415 |[FIFrUT 4,185
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0 £H 3561 =HF AVERESE 11,739 | £H 30,925
1 +EEET 4695 |t&ET 1,107 |&%0mH 13,829 |BHmH 36,870
2 R AR &R 4371 |FH#RTH 986 |EHTH 13,813 |HiEth 36,045
3 )Ili&TH 4,338 | ERIEHEBXER 949 |IKETH 13,805 |IxET 35,839
4| &SNV =FTH 4277 |)Ii&TH 888 |f@E™ 13,625 |#¥iIth 34,907
5 LR 4267 |ELNf=FTH 870 | 13054 ERBWH 34,298
6 REFH 4260 |FEWM 836 |BEARTH 13,006 | KFrth 34,168
7#8ETH 4176 | ERBW™ 832 |FFxLTH 13,002 & 33,593
8| &R 4118 |5t 831 |ZRW™ 12,962 |#llth 33,576
IMuET 4024 |Eumh 823 |dtAdNThH 12943 |f2@Bm 33,567
10| K& 3,925 |tEERT 809 |#MFETH 12,738 | KHp 33,519
11 KE™H 3,904 |lLFzth 808 |RIGmH 12,705 |EUm 33,493
12/ #i|m™ 3888 |[LET 802 | K:#EMH 12676 |&F#H™H 33,478
13 FZB™ 3844 |HFFTH 799 LB 12571 |#@AT™H 33,474
14|l B 3808 |[{i&ETh 796 |#FiEth 12,523 |#0FrU 33,401
15| FEm 3,796 |F#ETH 783 |R#HRTH 12505 | &40 32,975
16 F2[E™H 37711 |fEET™ 779 | KBrh 12,321 i@ 32,949
17/ 2HEH 3,655 |;E#ATH 772 | fARET 12,306 ;Em 32,913
184865 3652 |ELUth 758 |ETh 12,198 | KiEt 32,885
19 F#=mH 3649 |£iRt 750 |lL@th 12,161 | E¥m™ 32,775
20;EMTH 3648 |METH 724 | KHTh 12,154 |f8F ™ 32,453
21 fETH 3,643 | K:iETH 724 |¥AITH 12117 | 2HE™M 32,449
22| &k 3,642 |FafTH 722 AHEM 12,078 |H#ETH 32,262
23| BB T™H 3,637 | KB 722 | R 11,939 |FLth 32,024
24 Kirh 3,632 |t 721 |FRRETH 11,880 |[LBT 31,818
25 3R Exmh 3601 |ZEEM™ 718 E¥ATH 11,830 |EE[ETH 31,816
26| lLUfsTH 3569 |fEET™ 697 |AREETH 11,811 ERE™ 31,703
27| t2fE ™ 3,567 |;&Th 664 BEIRET™ 11,806 |f@Hmh 31,663
28 | B[ 3458 | Rt 655 |fERETH 11,797 | K& 31,533
29 HFFTH 3,441 |EE[TH 648 |[#aluth 11,775 |EWT™H 31,439
30| ELUTh 3432 |lLUOW 647 |ELUTH 11,705 L& 31,435
31|t 3,365 |t AdNTh 646 |ERFFTH 11,677 |#B¥R™H 31,352
R\ LET 3,347 |f@FHm™ 640 |[flE™H 11,641 |lLfgth 31,244
33|gEATH 3,342 |IKETH 638 |f&HTH 11,552 |BRZ;@mh 31,188
34 #ATTH 3,306 |HitBTH 633 |FEM 11,536 | St 30,978
35| BHEM 3,201 |#LiRvH 626 |SLV=FET™ 11,496 |fEE™™ 30,807
36/ luATh 3,201 |REATH 625 |#EETH 11,443 |REKTH 30,531
373 ™ 3,189 |#riETH 624 |lLfzthH 11,420 [ dt A 30,169
38;EMH 3,186 |H#H™H 622 |{EEB™ 11,420 |£iR 30,071
9 ERET 3075 |JKETH 608 |FAHETH 11,417 |&E™H 29,891
40| ¥ TH 3,039 |f&fmh 607 |REARXER 11,368 |FEM 29,669
M\ RIGH 3,019 |#umh 591 |#Li®th 11,233 |Ei&mH 29,269
42 3t i h 2920 | KHh 584 |JIlI&TH 11,146 & 28,984
43 Koth 2,907 |#@ATH 582 |fEETH 10,955 |#Ligr 28,927
44 EBH 2,848 |FEmTH 569 |ELUTH 10,937 |f2FtH 28,722
45 S¥Th 2835 | Ei&T 561 |[JKETH 10832 |JKFEM 28,673
46 EETH 2,792 |BHEth 557 |&Etath 10,808 |ELMf=FTh 28,662
47| Z & 2,774 | Akt 553 |&iRH 10,745 |#&ETH 27,639
48 E R 2771 |#iIvh 533 |EGTH 10,731 | JI|I&wh 27,622
49 f@Hh 2,643 |[{EETH 524 |BEX[ETh 10,439 |HiHET™H 27,545
50 #AUTH 2479 |El&TH 510 |F#ET™H 10,129 |HFFH 27247
51| F0Fr U 2,310 |&%0th 507 |giit&TH 9,969 |HIEERXER 26,569
52|\ & %nth 2278 |[ERBW™ 501 |&E&HFH 9,665 |F&RE T 26,345
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